T&T6 7.9 Log function March 05, 2015

-(Example 4 )

Evaluate the following number correct to two significant figures:

loggll — log4

use caloadoton Lo?xu —,(a;6¢f = 0-33743%25

=~ 0:%8  (2sf)

2. Solving logarithmic equations

{ Example 5 )

Solve the equation 2log;x — log;(18 — x) = 1.
2 deg x - Log. (1%-x) = |

e e NELY

P 50;3)(7' = Aog (18-x) = Loz 3
= L ZALIRRIAE
Xn=‘3» & Vt-»b?x?, > l’itx—'; il
X“=2(13-x)
X¥= &4-13x

X*4+ 3% -S4 =0
(X =~ &)x +9)=0
X=6 ., Xx=-9X

check. Lhot b - Aog (l8-6) = |
2 Loy (1) ~ log, (18--) = Zeror




T&T6 7.9 Log function

Solve the following log equations:

@ logo(17 — 3x) + log;px =1

@

G il
L0 [Sovetli, 1= Aip iomatiing]
by ot b= g ol
lo?lo Io =

@ Solue 7«.0(»4\':.
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28, logy(x* —4x — 11) = 0.

Log,, (1F-3x) + Aog X =

lo;, [G+ ‘-‘sx)(x)] = ,&7 10

[Fx -3x* = o
Y- 13Fx + D=0
C’S\(—l)(x - §)=o

X = %y

>

1 X=s

29. Given that @ =y and log,(2x) = y + 4. find the value of x.
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equation
tfai iyl

4= Log, ]
2*=1b

Solve p,‘luwh'ou\

.lo;_;l (:Zx) = ,’Llo).’_x +4
L——B__J

10?.}(23() = /o;,_x" + A;;‘_lé

log,, (2x) = Loy, (6I01)

= 2Zx = lbx? (enceruc 2 Sows )
[by*- 2x =0
Yx"——-x =0
X (8x~-1)=©°
= ? ==
X=0 X D :-_ |/7°

lo?}_ (2(=)) ?‘%;;z +4 X
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